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GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) TRieTel gavem 3o J9--UF OX AT AfHemd: fog |
Candidate must write first his/her Roll No. on the question paper compulsorily.
(2) | U FH A T |
All the questions are compulsory.
(3) WS TR I TR &l TS IRl | & g |
Write the answer to each question in the given answer-book only.
(4) T U | TR TUS €, 37 Tl o I TH A1 & ford |

For questions having more than one part, the answers to those parts are to be
written together in continuity.

(5) V-9 % &= ST TR | hdl TR i Jfe / R/ fatremyra e ) fewst o

% U i Tl 7 |

If there 1s any error / difference / contradiction in Hindi & English versions of

the question paper, the question of Hindi version should be treated valid.
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(6) «mT 9 W& 3 UA® U9
T 1-11 1
E} 12-21 3
9 22 -27 4
T 28 —30 5
Part Question Nos. Marks Per Question
A 1-11 1
B 12-21 3
C 22 -27 4
D 28 —30 5

(7) U HHE 27 W 30 § SN foehed § |

There are internal choices in Q. No. 27 to 30.

HT - A

PART - A

1. g9 g HTferd g o1 AW fofa |

Write the name of hormone secreted by testes.

2. Yo HE § W § fohd gTiaehes aered Shi AT ST Bl AT 7 7

Which harmful substance is deposited in blood due to blood agglutination ?

3. Freon -12 &1 THREMS g7 foifaT |

Write chemical formula of Freon — 12.
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4. Teu e foega €9 o soieh IT@ H X o1 A fIRan |

HITCAT T& 7T @A

TIMTeHT 37erar = g El

HIT ST Ha SIGE]
X

Write the name of X in the given block diagram of electric power plant.

Coal combustion —
or Nuclear or urbine
solar heat Water Steam and

plant Generator

5. TS |TR AR fhE TS H fRa R

In which state Nagarjun Sagar Sanctuary is situated ?

6. &t <hl Teh BHSA o1 A0 fARIU |

Write the name of one Rabi crop.

7. Tr 9% * SRIEN 98 Ha @17 ?

Which tree is called biodiesel tree ?

8. T WY % %ol I AT AR |

Write the name of family of tobacco plant.

9. wfeeefi s d e w7

What is ‘hinge’ in antibody molecule ?
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10. T h g4 H 9 ST ot [gA 3T ST fAfn |

Write the application of IgA found in mother’s milk. 1

11. T B Frah o IR TN §H ATl Freehid &7 {1371 ol 3TRRET T |

Draw magnetic field lines formed around a bar magnet. 1

HT -

PART - B

12. gAY fopa hgd & 7 Tolieet i o ST feuel W ae aTet YT Sl ey |

What is Tsunami ? Explain the effect of global warming on glaciers. 1+2=3

13. 9 shfgehar o1 fagrd foram afaarfed femam 2 Sita 3caf & geaea O firer & g2 =)
HHSATU |

Who proposed the theory of biocentrism ? Explain the Miller’s experiment of

origin of life. 1+2=3

14, Tferm 91 g ? SIfd o SR, et W Yo Sfia <l 3caft ha g8 ?

What is Alien ? According to Darwin, how the first organism was originated on
Earth ? 1+2=3
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15. (31) Yt T YW b 978 <hl 2ScATSe W T FIehiE a1 g 7

(9) aredt | e w1 399 <& 7q fohd guuT i 39 fohan Sran & 7
(|) gHIE AT8 =TeTehl H ZAHE 81 Ug- TR HSTl 1 YE9H 941 § ?

(a) Why is paper of yellow colour is pasted on vehicle headlight ?
(b) Which mirror is used in vehicle to see rear view ?

(c) Why there is provision of punishment for not wearing helmet by driver of

two wheelers ? 1+1+1=3

16. HTEHE T o A0 fARET | i a7 A § i 8 IR 00 8 A6 7

Write the symptoms of marasmus disease. Which four properties must found in

drinking water ? 1+2=3

17. frefafea sfiufsmeanstt o semon T Twems -
(37) T srffsran
(&) et tfufsran
(@) Yeiea rfafsran

Explain the following reactions with example :
(a) Replacement reaction
(b) Neutralisation reaction

(c) Redox reaction 1+1+1=3
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18. Tehfcieh THTEM <l AT 9T & 7 ST oh |V g TR 3uT™ fotfa |

What is the meaning of natural resources ? Write the four ways of forest

conservation. 1+2=3

19. Tr=faRaa s gaferd Hifer :

(31) S, "el| 3Tt (i)  wofeess goid

@ gy (i) yor-Fem

@) . 9= qTeved (i) WA % 9L T

Match the following :

(A) Dr. Saleem Ali (1) Plastic Surgery

(B) Sushruta (i)  Embryology

©) Dr. Panchanan Maheshwari  (ii1)  Bird Man of India 1+1+1=3

20. T=feriaa Aifieni % [UPAC ™ fafaT ;
(37) CH,;-CH,-CH,-Br
() CH,=CH-CH,
(@) CH;-CH,-C=CH
Write [UPAC names of the following compounds :
(@) CH,;-CH,-CH,-Br
(b) CH,=CH-CH,

() CH,—CH,—-C=CH 1+1+1=3
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22.

23.

24.

7
Sa-Frfientor 3afRTe 8 319 = gHEd & 7 Wifies 9 9 37 Sidl o ol =ideh 8 |

TS |

What do you understand by biodegradable waste ? Plastic is harmful for human

and other organism. Explain. 1+2=3

-9

PART - C
(31) ekt hl &1 31 feped faifgT |
(9) S, I1eY o fohe W & 9T foparn ST & 2
(F) < 3FS IcdTesh Nl o Iefaes 9 fafay |

(a) Write two improved varieties of maize.
(b) Quinine is obtained from which part of the plant ?

(c) Write the Botanical name of two plants cereals. Bt +1+1+1=4

AUSA g I Hel UTed I3 o I’ vl fARau | Avee & gHiferdT o =\ &l Tk
EARUERCEEIERE

Write the four reasons of selection of Garden pea plant by Mendel. Explain the

Mendel’s Law of Dominance with one example. 2+2=4

(31) IRIE g & AU 9 37 Td &R o 30 died THesy |
(&) e fmtor <61 fos wfea wwemsy |

(a) Explain acid and base with example on the basis of Arrhnius Concept.

(b) Explain Micelle formation with diagram. 2+2=4
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25. (31) Treifera faega uftug & A 9 B @ A& et wferiy 3i1a Hifre |
30 30

/ 3Q) \ 30 3Q)
® AAAA AW ®
AN\ 30 / 30 B
(&) foret aTeTeh AR § 0.05 THE e 4 Tefiunder faga g yarfea ardt &, @ 34
TTeTeh dR H JaTfed ST shl HTAT hl TUMET shifT |

3

(a) Calculate equivalent resistance between A and B in following electrical

circuit :

3Q 3Q

/30 \ 30 O
AAAYA A AAAY °
\ 30 [/ 3 B

(b) 4 mA current flows in a conducting wire for 0.05 seconds, then calculate

:

amount of charge flows in that conducting wire. 2+2=4

26. (31) 5 forun i ush a5 Bl 4 Mt FAE W I § 763 U SRk 6 rorr Hifse |
(g = 10 HT / AHvE?)
(¥) 3fC T &g § 200 T FRHH i T el 50 HeUHHe 97 | R A 7, di
et <Y ferst STt 3T I |

(a) Calculate the work done to move an object of 5 kg upto a height of
4 metres. (g = 10 metre/second?)
(b) If a bullet of mass 200 grams fired from a gun with velocity 50

metres/second, then find the kinetic energy of the bullet. 2+2=4
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27. Sa-fafaydr a0 o« 87 Fifta @ & fou stravaes € vdt <l gagmsy | Sa-fafagar

% TTET0T 2 U TATET T Ieoi@ HIRT |

YT

Teresft smfert o strspH w51 Sa-fafaud w = wvme year 8 ¢ gaensd | Sa-fafawgran

1 3T e faflgu |

Explain the two essential conditions for biodiversity hot spot. Explain the

national efforts for conservation of biodiversity.
OR

Explain the effect of invasion of foreign species on biodiversity. Write the

economic importance of biodiversity. 2+2=4

HIT-¢
PART - D
28. (31) UM IcESH a3 i ATHIfhd fF S8 |

(¥) TSN TMIE % THRI hl I Higd qemsy |
YT

(37) T AfETsh T THIfRd s a3 |

(§) =a afeassh o iy w6 gt 9 e aussy |

(a) Draw a labelled diagram of human excretory system.

(b) Explain types of nitrogenous waste with example. 2+3=5
OR

(a) Draw a labelled diagram of human brain.

(b) Explain the structure & functions of different parts of the human brain. 2+3 =5
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29. (31) SR URHTY] Hige 6l HIs g HiHAT faaRan |

(@) T o H S E e 3w urferes 7o fohe wehr ftarfdd gt @ ¢ s wfga
AT |
(@) f=faIRaa ai sl 3 S@d §T TTHTY] 3R o Y H foAfaT :

Na, Cs, Li, Rb

e
(37) TTHIE WA Higed hI hIg oF wivat forfgn |
() T T SR 319 FITA THTY & BIeT =11 &l 8 7

(@) Freafafaa ol & 3% ggd gU A Tt & e § fofee

F,Li,C,B

(a) Write any two defects of Bohr’s atomic model.

(b) How does metallic character changes on moving top to bottom in a group ?
Explain with reason.

(c) Arrange the following elements in the ascending order of their atomic size :
Na, Cs, L1, Rb 1+2+2=5

OR

(a) Write any two defects of Rutherford’s atomic model.

(b) Why size of cation 1s smaller than its atom ?

(c) Arrange the following elements in the ascending order of their ionization
enthalpy.

F,Li,C,B 1+2+2=5
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30. Ueh aded <l & Yfdfers ol &1, g o1 fortur fomr s18d wiefer ueh forar 35

Fohdl g ‘C’ T TR B | 3feaer gdul % s &1 3yan fafEw | e gdur
ST & I AT @ 7

e
TS 5 S GG 1 AEIhd =3 S5 | 57 1 THOH &A1 T gE WE H
femfya i | SrogEhiar (S gfedy) w6 fFamor 3§ w5 @1 o s R S
7

Draw ray diagram for image formation by concave mirror when the object is
placed at centre of curvature ‘C’. Write any two uses of concave mirror. What
does mean with the magnification by spherical mirrors ?

OR
Draw a labelled diagram of the human eye structure. Define power of
accommodation and visibility range of eye. Which lens is used in remedies of

astigmatism ? 2+1+1+1=5
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